oy
Il

PHYS 101: General Physies 1 KO UNIVERSITY Fall Scmester 2015
Collepe of Sciences
Hpetion 1 Quiz 2 N8 Oetoler 20005

Closed hanle, Nn ealoulatars are th be used for thiy ynic,
Quiz duration: 15 mintes

Manmne: Sfudent TIN Hipnaure;

A projectile is launched fiom the arigin with initial speed 2, on an inclined surfsee. The
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launch angle wilth the hovizontal is o, = T—;_ Lhe inclivation awgle of the surluwe is ff = =

Determine the distance of the lnding point from the launch point in terms of the given
paramecters, The gravitational acceleralion is .
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PHYS 101: CGeneral I'hysics KOO UNIVERSITY Fall Semester 2005
Caollege of Sciences
Seefion 2 Duiz X 08 Oetober 2015

Closed book. Mo caleulntors ave to b nsed for this quiz,

Quiz duration: 15 minntes
First Mume: Last name: Student 1L Signature:

Consider the motion shown in the figure, where a hall starts moving ot time ¢ = 0
with speed w,and maldng an angle of 7/4 radians with Lhe harizontal axis. If the

horizontal and vertical acceleralivns of the ball are given by o, = - 24 and «,= - 8,

respectively, find its vertical and horizanLal displacements with respect to the inilial
position as o Funetian of Lime. Tlere A and B are positive canstants. You may ignore

the affects of gravily.
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PHYS 101: General Physics KOG UNIVERSLTY Fall Semester 2015
Cuollepe of Beienees
Seetion 3 Quiz 2 0f Ocrober 2015

Closed bool, Mo calealatars are to be wsed lor this quiz.
Uniz duration: IS5 minutes
First Mante: T.ast name: Student L1: Sipnature:

A missile is theown ot an angle 33° inlo air from the prownd with initial speed w, = 720
Lmh {there is no air tesistance). Tind the altinude of the mixzsile from the ground al the
instanl when its velocity vector makes an angle -45" wilh the x-axis. (Hinl: lan{53%) =
444, = 10mfs,
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PITIYS I General Physics KOG UNIVERSITY Tall Semester
College of Seiences

Section 4 Quiz 2 N& Oelober

Clnged hoobk, Mo caleulators are Lo be used Tor this quiz,
Duiz durgtion: 15 minutes

1

2015

1015

Firat Name: Last nume: Student 100 Sigmatures ¢y
= -
A wvertical launch ramp is o = 10 m long [oom we ground. Dueing the 2 J A,
launch, the ramp applics a constant wertical acecleralion @, = 5 w54 _:' : : |
to an objoet until it leaves the rmp, (g = 10 m/=%). h\j E : : '
I, The luwnch sturis ol L — 0s with the object at rest on the base ol 7 & J 4 |
the ramp af the ground, When daes the chject return to the / ) [lg_l \ L
pround? ‘\_ﬂ&,{]: -
2. lot the velasity vy, Gime graph of the ahjact during this motion A 3
gualilatively. hidicale the important data peints on the graph. : -
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PHYS 101: General Physivs KOO UNIVERSLITY Fall Semester 2015
Collepe of Sciences
section 5 Quiz 2 08 Oetoher 2115
Closed book, No ealenlators are to be wsed for Uiis guie.
Ouiz durstion: 15 minules
First Mame: Lt name: Student 11; Blpnature:

The position ol a particle us w unction ol Gme s given as

Fli}— .i‘E‘[] + m:i(w.f}]f + Bsinfan)  where & and o ome some conslunts,
a) Dotorming the instmiancous velocity veclor, ¥{E) {using unil veulors i and j]
hl Melermine the instantoneous sceeleralion veelon, {0 (using unit vectorsi and j |3
o] What i5 the onple betwesn ¥ and ofl) 7

d) Bascd on the information ohiaingd in preswiows parls, whal 3 the names lor tis
parbicular molion!
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